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mistake

HE2TYT—O

HFTEBORXZE L oMY/ — FMIBEVWTERERDDH L !

ZBNO3
Aa—2A

D(x—2)2=25

@(x+5)2—4=0

@ (x+6)2=6

@(x—T7)2—18=0

®(x—1)2—7=0

©®(x—5)2—9=0

MD(x—1)2—9=0

®(x+5)2—6=0

@ (x+1)2—28=0

0 (x—2)?=—18

@(x—17)2—25=0

@(x+1)2—64=0

@(x—T7)2=10

@(x+6)2—2=0

®(x—9)2—96=0

fRERNO3

B=—X

DOx—2)(x—3)=0

@(x—1)(x+4)=0

@x+2)(x+6)=0

@(x—4)(x+7)=0

®(x+3) (x—5)=0

® x(x—4)=0

@ x(x+6)=0

3x(x—9)=0

@ Tx(x+5)=0

%x(x—l)—o

@(2x—1)(2x—3) =0

@ (3x+1)(4x—1)=0

@(1—3x)(3+5x)=0

0

@ (5x—4) (Tx+3)

®(8x—6)(9x+6)=0

REINO4 5GIED~D
Ca—XA

Dx2=2x

@x2=—>5x

®2x2= —6x

@D9Ix?—3x=0

®6x2 —10x=0

®x2—4x+3=0

Mx242x—8=0

®x24+12x+35=0

Ox2—8x+16=0

0x2+12x+36=0

25x2 —10x+1=0

@9x2+4+12x+4=0

@x2—9=0

Wx2—64=0

H9Ix2—4=0




